INSTALLATION GUIDE WHEEL SPACERS

SYSTEM AZ



SYSTEM AZ
F718120,25,30,35 mm

BFMGEHDONT I —TETE—%HERIRIL b
FUVRTFLT, AR—Y—FT 4 RY ERA—ILEZD
LEeva )T LET,

BRBZNTROEETH, AILAR—Y—F 1R %E
RALTRBABELGNTEVA—TH T2 —THEGSEE
i%—»z&—ﬁ—MEﬁ®$4—»nﬁtnUﬁﬁi
—LAR—Y—FT 4 RY
—ILERYFHITET

M14x1.50X Ly b4
~, t —»t»béﬁﬁbf$4
Gl TEXCEED

Ty RTRA—LERY G ZERNBE, FITLAL
YRRILFEEALTRR—F—T 1 ROBDRIL FE
HL. +ubr+4—»§m9ﬁwé$b7£r¢(ﬂ
BIEXLCESY)

WERR : AIXAR—HY—T 4 25721

BFEY  RA —LERYFIFRIL A, Fu b

SYSTEM AZ
25/30 or 35 mm per wheel

Bolt on system with patented center adapters for
double centering for cars with wheel bolts AND threa-
ded wheel studs. The double centering system
guarantees an optimal fitment. Different center bores
can be covered with the interchangeable center adap-
ters. The wheel spacer is mounted to the wheel hub
with the added mounting hardware. For cars with
threaded wheel studs the ST threaded studs are used
to mount the wheel to the wheel spacer. For cars
with wheel bolts M14x1.5, bolts are used to mount
the wheel to the wheel spacer. Additionally, a con-
version from wheel bolts to threaded wheel studs is
possible due to the ST threaded studs. Fitting wheel
bolts or threaded studs and fitting center adapters
are required (Please order separately).

Box Contents:
2 wheel sspacers system AZX

Sold Separately:
2 center adapters
wheel mounting hardware



EE

KA —JLAR—H—[F, ELIMERAETHED
NEBEOREREATLET,
Y HHEEFRAT S BEAHY FT,

R

as -
FERAEIE. B4 D Web Y4 A SE I O—
FTEEY,

ATTENTION!

RANGE OF USE

Before installation please check if the wheel
spacers are approved for the intended appli-
cation. If the vehicle is not listed in the parts
approval the installation must be done by an
expert. The individual approval must be done
by a state-approved expert in accordance to
§21 in connection with §19.2 of the road traf-
fic licensing authority (StVZO).

PARTS APPROVAL
No parts approvals are attached to the box.
Certificates can be downloaded on our website.

1. RA—ILEHNT
HRORIEGHAZIZH > TRA—ILERY S LE

o

1. REMOVE WHEEL
Remove the wheel as described by vehicle
manu- facturer.



2. RA—INTDER
T;—»Ajéx%—»jav%FEEt%ﬁ

o

2. CLEAN WHEEL HUB
Clean the wheel hub carefully with a steel
brush if necessary.

3. NITTFHETE—DHHIT
TETE—%RA —IVAR—Y—[CANET
FTETE—F, RA—LELIBIITTDHH
[SRR—Y—TFT 4 25 MMBRH L TVHBEN
HYET, R —ILICE>TRELBE DS
FAY b OEENBEIZEDHFEEGNHY F
o 15IR=TFESBL TS, (182)

< Ip S, k°

3. ASSEMBLE ADAPTER

Put the center adapter into the wheel
spacer. The adapter is put into the spacer
disc on the side with a bevel. The collar of
the center adap - ter should protrude

through  the spacer disc enough for
centering the wheel. See page 15 Abb. 1 and
2.



4. HEALEORER
A —ILRR—H—hlik A — LN T SHPAOF
f$§<~EMtﬁeLrué#55#§m%

4. CHECK CONTACT SURFACE

Check if the wheel spacer fits on the wheel
hub and to the rim without any play or
float and that the hole pattern fits
properly.

1HIR :
2Ty T 1 H5 4 1E AXSATFLIRTRLTY,

INFO:
STEP 1 TO 4 ARE THE SAME FOR ALL INSTALLATION TYPES OF SYSTEM AZX!



TR !

" —ILFw bE

i YT BRI,
FTTDRIL HJ\ET?

LD, TR —ILANZ
EFRHEIIERBLTLESL,
RA—ILARIL FEE ;. RA—ILERAR—

H—T 4 AT IZRY F 1B, RIL FASR
A—ILAR—Y—T 4 RO BRI TEEY
TIERYFEA,

15R—=UFSRLTLEE, 3,45,

FLYLUFZEERLT, R —ILAR—
H—FWMYMITET., (ERA—H—0DIF
TE SNtk —ILEEDO T FILY),

ASSEMBLY FOR CARS WITH
WHEEL BOLTS

ATTENTION!

Before installation please check that the ori-
ginal bolts of your rim or the added M14x1.5
bolts are not too long. The bolts are not sup-
posed to protrude beyond the wheel spacer
disc when mounting the wheel to the disc.
See page 15 Abb. 3 and 4.

5. MOUNT WHEEL SPACER

Mount the wheel spacer with attached wheel
bolts using a torque wrench. (torque to spec as
described by the vehicle manufacturer).

EE

B A—H—FlERA =LA —H— a);ﬁ ?éﬁ&)ﬁ
l-rHW?r*HEL,'cU—a‘:L\ A Ry FLUFIEEE
MICERALGENTLCEEN!

ATTENTION!

Use torque spec/tightening torque for the rim as
de— scribed by the vehicle manufacturer or the
TOV-cer-tificate of the rim manufacturer . Never
use an impact gun!



6. R —JLERAT F

FTDRA —ILARIL b (T 5MI4x1. 5DIHE) F 1=
IF. BIZEY OM14x1.5R)L b & ER L T, BEREA
—H—DEEIZHE > THRA—ILERYFTES
o RIMALAHEBEEBL TS,
UR—TUSH,

6. MOUNT WHEEL
Mount the wheel with the original wheel bolts
(if stock is M14x1.5) or the added M14x1.5
bolts as described by the vehicle manufacturer.
Please consider the minimum thread engage-
ment. See page 14.



RA—ILRE Y FRIL M EEROERT

EE

ZB Y FRL ARG —F f RY DR
EHLBEE. KFOBIRA—ILEHER
TALENBYET,

15 R=CEBELTEEL, 5,6)

5. #TNLALY RRIL b ERAR—H—F 4
RAYIZWY FIFET

SmAFLUFEEALCT, FTILALY K
RV EEAR—H—T A RVICRLAHFTS
o BTLALyY BRIL RE, AR—HY—F 4
;g@%%b\b M25Nm) THDIDELHY

6. RA—JLAN—H—E{FIF
FLOLUFEERALTT Y FTRA—ILR
R—H4—ZWMYMHFET (ERA—D—DR
EFEESYD LY,

ASSEMBLY FOR CARS WITH
WHEEL STUDS

ATTENTION!

If the original threaded studs protrude through
the wheel spacer, rims with recessed holes
must be used. See page 15 Abb. 5 and 6.

5. MOUNT THREADED BOLTS INTO WHEEL
SPACER

Screw in the threaded bolts into the wheel
spacer using a 5mm allen wrench. Threaded
bolts must be tightened with 25 Nm from the
back of the spacer disc.

6. MOUNT WHEEL SPACER

Mount wheel spacer with the added nuts using
a torque wrench (torque to spec as described
by the vehicle manufacturer).



EE
F5YZ2us g OXTADR FLAEEET B1-0
§%$4—»Z&—ﬂ—iﬂUﬁﬁéﬁﬁjb—$iﬁ
RA — LR R—H—OEY FFIZ4 218 b LUFELE
ALAELTIEEL,

ATTENTION!

Engage the handbrake while mounting the wheel
spacers in order to relieve the stress on the
trans —mission . Never use an impact gun for
mounting the wheel spacers!

7. 1A —LERfF 1T
HlA—HA—DEERY. "M —ILF v bTH
A —ILERYMFITET,
RIMRLAABEERLTLESL,
UR—TUSH,

7. MOUNT WHEEL

Mount the wheel with the original wheel nuts
as described by the vehicle manufacturer.
Please consider the minimum thread engage-
ment. See page 14.



10

RA—ILRIL kDD RE w KiRIL b AZEHR

5. #T)LALY FRIL hERR—Y—T 1
RAYIZBYFIFET,

SimAfB L U FEFALT, FIILALY K
RV FEAR—HY—T (2R LIAHET,
FILALY FRIL bE, RR—H—F ¢
f}\;%)_%%ﬁ\é 26Nm)  THEHDIVENLH

6. RA — )L AR —H—EfF 1+
PLYLUFEERLT, BMEhizikd—)L
BRI EISFY FTRYMHFES, (EEA—D
—HHEET S LY,

EE
FSURZ v g bETADR FLRAEERT 510
5%$4—»x&—ﬁ—§wUﬁwéﬁﬁjv—#ﬁﬁ
KA — LR R—H—OEY [ A 2155 b LY F £
ALELTLEEL,

CONVERSION FROM WHEEL BOLTS TO
WHEEL STUDS

5. MOUNT THREADED BOLTS INTO WHEEL
SPACE

Screw in the threaded bolts into the wheel
spacer using a 5mm allen wrench. Threaded
bolts must be tightened with 25 Nm from the
back of the spacer disc.

6. MOUNT WHEEL SPACER

Mount wheel spacer with the added wheel
bolts using a torque wrench. (torque to spec
as described by the vehicle manufacturer).

ATTENTION!

Engage the handbrake while mounting the wheel
spacers in order to relieve the stress on the trans-
mission. Never use an impact gun for mounting the
wheel spacers!



7. RA — LB T

Bl A—H—DIFEBEY . TORA—ILF v b
THRA—ILERYFTES,
RIMRLAABEERBLTLESL,

UR—UBHE,

7. MOUNT WHEEL

Mount the wheel with the original wheel nuts
as described by the vehicle manufacturer.
Please consider the minimum thread engage-
ment. See page 14.



RE Y FRIL RO BRA —ILRIL A
FE!

YT HFIC, RA — LI IFICERY
BN 4x1. 5RIL bR T ELVAHEE L T
{EEW, RA—LERR—Y—T (Y
IZHLY [ B, RIL bAKRA —ILZAR—
Y—T A RYEZBATREHTEGY FE
Ao 1IBR—=UZESRL TS, (B&d)

—JLAR—H—
F D& BHA—I
T. 16R—U%

CONVERSION FROM WHEEL STUDS TO
WHEEL BOLTS

ATTENTION!

Before installation please check that the ad-
ded M14x1.5 bolts are not too long. The bolts
are not supposed to protrude beyond the
wheel spacer disc when mounting the wheel
to the disc. See page 15 Abb. 3 and 4.

ATTENTION!
If the original threaded studs protrude th-
rough the wheel spacer , rims with
recessed holes must be used. See page 15
Abb. 5 and 6.

5. R4 — )L A R—H—Hft 1+

ML LUFEERALT, BmEhtzka—IL
RILMZFy FTRYMSITET, (EEA—H
—HMEET D MILY),

5. MOUNT WHEEL SPACER

Mount wheel spacer with the added nuts using
a torque wrench. (torque to spec as described
by the vehicle manufacturer).



ACHTUNG!
Die FuBbremse sollte betatigt werden, damit die Spur-
verbreiterung fest angezogen werden kann und das
Getriebe entlastet wird. Verwenden Sie keinen Schlag-
schrauber!

TR
FSURZI VDI VOFXFTADRNLRAEREET 518
(o FA—LAR=Y—ERY T SRETL—F 28
A — LR R—H— DY A 285 kLY F £
BLANTLESL,

6. A —JLER{F 1T

HRA—H—DEERY. TORS—ILF v b
THRA —ILEBRYFITES,
BPMRLAABEEEL TS,
4R—USH,

6. Mount Wheel

Mount the wheel with the added M14x1.5
bolts as described by the vehicle manufacturer
. Please consider the minimum thread
engage- ment. See page 14.



14

!

Bl A—H—Ff=ERA—ILA—D—DERE
RIZEL-TH ﬁéh'cl.\%) MUY EHERLTT
SV A UYL UFIIERICERLAENT
(&N

RILbEFY FORNRDREERE

M12x1.25 8. 0EEzLA L
M12x1.50 6. 5EIERLLE
M12x1.75 6. 5@z E
M14x1.25 9. 0EEzLAE
M14x1.50 7. 5[EIExLLE
1/2° H7< &4 8.0 EER

ATTENTION!

Use torque spec for the rim as described by
the vehicle manufacturer or parts approval of
the rim manufacturer. Never use an impact
gun!

Minimum thread engagement for wheel
bolts and wheel nuts

M12 x 1.25 at least 8.0 turns
M12 x 1.50 at least 6.5 turns
M12 x 1.75 at least 6.5 turns
M14 x 1.25 at least 9.0 turns
M14 x 1.50 at least 7.5 turns
1/2" at least 8.0 turns



E{& SR
FURTHER INFORMATION

Abb. 1 Abb. 2

Abb. 3 Abb. 4

Abb. 5 Abb. 6



03/2017






